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[ia 174,300
301 LA F 270,000 240,000 30,000
s 50,000
< 45,700
i 174,300
12JIEBE243 270,000 240,000 30,000
OAZ=0IE d=8A 22X & 270,000
s 50,000
= 45,700
s 174,300
A2 Z2ACAIAE 298 X 700 700 0
308 AHAIEHHSOIA 700 700 0




SA: PRXED
Hu: DEMH =

Sl 22 X CEEEED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
113/ 2SoHUHSZ&EAEALS I 700 700 0
OHAI2EIZ 2 AAE 224 700
238 HANE (sEE BE2Y) 480,000 440,000 40,000
ras 240,000
< 72,000
e 168,000
307 21201 A 480,000 440,000 40,000
s 240,000
< 72,000
e 168,000
09 2+=HAHEBEXS 480,000 440,000 40,000
O3 HAXNEA 480,000
s 240,000
= 72,000
s 168,000
NN SEHA LA 10,000 0 10,000
< 10,000
405 XtatE SHI 10,000 0 10,000
< 10,000
01 THatH EZFH S 10,000 0 10,000
O2ANEAN SEHA 10,000
= 10,000
HE2LZH (2B XA D) 119,336 110,623 8,713
ol 2| (212 XA Dt 86,306 79,831 6,475
OIAH (21 X = 1) 86,306 79,831 6,475
101 @14 dl 86,306 79,831 6,475
03 RIAHAZZ T E =+ 86,306 79,831 6,475
Oglgge oyl 86,306
-QEAAR(1Y) 43,153
—EX (1Y) 43,153
Jl2Z (22X = ) 33,030 30,792 2,238
Jl2ZHl (YR =) 33,030 30,792 2,238
201 £B-2dH| 27,144 23,556 3,588
01 At 22l 27,144 23,556 3,588
OJle=+=&Hl 10,440
OJle sl 16,704
202 04l 1,458 2,916 A 1,458
01 = LH 4 Hi 1,458 2,916 A 1,458
OYJXNAL J=2gRF=a 1,458
203 R =&t 4,428 4,320 108
04 FN2ELRZ=TH| 4,428 4,320 108




SH: RIRT D
HE: HY2 YA (UAKE D)
el Jl=2F (R D) CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
OUHENEDY RN RR =
410,000 = 12€ = 90/100 4,428
THEES(CIKAX =) 570,478 695,252 N124,774
WEHH XS (LX) 570,478 695,252 N124,774
LHEHHX = 570,478 695, 252 N124,774

= 570,478 695,252 N124,774

=
01 DBt AN ES 570,478 695,252 N124,774
AELSH &S 570,478




